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27. Adead battery is charged by connecting it to the live battery
of another car with jumper cables (Fig. P28.27). Determine
the current in the starter and in the dead battery.
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Figure P28.27
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2. (a) What is the current in a 5.60-€) resistor connected to a
battery that has a 0.200-Q internal resistance if the termi-
nal voltage of the battery is 10.0 V2 (b) What is the emf of
the battery?
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11. Three 100-Q resistors are connected as shown in Figure

P28.11. The masimum power that can safely be deliv
ered to any one resistor is 25.0 W. (a) What is the maxi-
mum voltage that can be applied to the terminals @ and
b3 For the voltage determined in part (a), what is the
power delivered to each resi at is the total power
delivered:
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Figure P28.11
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alculate the power delivered to each resistor in the
circuit shown in Figure P28.15.

2.00Q

MWy

SOV T § 0Q gl.OOQ
MWy

4.00Q
Figure P28.15
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1] £ Determine the current in each branch of the circuit
shown in Figure P28.21.

Figure P28.21 Problems 21, 22, and 23.
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26. In the circuit of Figure P28.26, determine the current in
each resistor and the voltage across the 200-Q resistor.
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Figure P28.26




